
Dealer:

Machine:                                   Serial Number:                                                    Date:

CHECKS DONE N/A COMMENT

Run Machine/Check Operation 

Check For Oil Leaks

Check Hydraulic Hoses

Check Gearbox Oil Level

Check Tail Light Function

Check Chain Tensions

Check Brakes Function

Check Scale Function

Check Joystick Functions

Grease Machine

Grease Wheel Bearings

Set Tyre Pressures

Lubricate Chains

Torque Axle Pin Bolts

Torque Wheel Nuts

Torque Tow Eye

** NOTE: If machine is going to be stored, ensure hydraulic cylinder spears are lubriacted/soft sealed** 

Technicain Name: Technician Signature: 

Completed check sheets are to be loaded with each warranty registrations to activate the machines 5 year warranty.

Bolt Torque Settings/Gear Oil

Tow eye M16 Cap Screws - 200 N.m

Load Cell M24 Hex 10.9 bolts - 822 N.m

M24 Hex 8.8 bolts - 600 N.m

Axle Load Cell M24 Cap Screws 12.9 - 950 N.m

M24 Head 8.8 bolts - 600 N.m

Axle Wheel Nuts M18 - 269 N.m

M20 - 372 N.m

Gearbox Oil SAE 90 Gear oil

Check level when motor is Horizontal

     PRE - DELIVERY INSPECTION CHECKLIST

WAGON / TRAILER


